
Time: 10 Minutes Paper Math 4 (T-1) Total Marks: 10

1st Month, 2nd Week, 4th  Day Addition and Subtraction 
Q.No.1. Choose the correct option. (6 x 0.5 = 3) 
i) The sum of 79 021 and 11 499 is:  11 499  79 021

(a) 84 420 (b) 90 520 (c) 89 310 (d) 90 640

ii) The difference of 44 200 and 12 985 is:  12 985  44 200

(a) 31 215 (b) 30 115 (c) 33 615 (d) 32 165
iii)When we subtract 73 810 from 89 654 then we will get:

 89 654 73 810 
(a) 12 345 (b) 13 245 (c) 14 765 (d) 15 844

iv) 67 436 + 54 839 = ?   67 436 + 54 839

(a) 121 075 (b) 122 375 (c) 124 075 (d) 122 275 

v) 76 247 -  74 166 =?  76 247 -  74 166

(a) 1 081 (b) 2 081 (c) 3 091 (d) 4 081 

vi) What is the sum of 21 089 and  19 021?  19 021  21 089

(a) 43 781 (b) 39 620 (c) 40 110 (d) 41 110 

Q.No.2. Solve the following. (1 x 4 = 4) 
i) 46 525 -  23 145

ii) 90 766 +  38 967

iii) 46 525 -  23 145

iv) 23 079 -  28 798

Q.No.3. Solve the following: (1.5 x 2 = 3) 
(i) T. Th Th H T O

3 3 2 7 5

 2 6 2 3 8

(ii) T. Th Th H T O

6 3 5 6 3

+ 4 2 8 2 7
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